£700) MW (5 won

5 ,)/[s‘)A/ IHM, I

P"I\.AN tso0 5 sk Lk K ww )( »lc
Pr[x ?{l < E—L)'(-]
t
% t %0 :))2{’)
E[X] - J; X PCX=K\ dx = j )(P(X=x)«9~x +J\ )(PCX=x) &x

> o  + tf()wu)oh 1 Plrsy

:3.3.)3 !Hlf
_(Vw;nn(e) ) V(X) = E Y_E(X\)'LJ

e
LIX-g00) > £]= 0] )y-10) >t] < Vi .
-'t-{ ’j"’
..)llnu BkA el () “30d b a) FYN
5 ﬂ(’ <A A6 E
Ak <Ay 26ny ls/N 5 3[}0 koW tso I8 )13 % fj))j a0t
bLx=tl-npee’s &) < ELeY
\], es'L-
bllh,\lé;(
(i}»/ m
| e .
E[%.‘ﬂ XI] ‘-'_I ELX;J : ';{k 40\//.),\ -‘J/)A A;N XA,.,,‘XN /Ofc e n\,\/({\

—

AN m -\ff).).\

vy , .
‘EUX} fxn (A AR P ol wly angy
IK"

i J’ -~ DU(,:,(,) P(X, =x,)Ax,Ax1

—l

P

le

j PO -x (f P(xbx)ix,.) v = EXELN]



